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Instructions : Each question has four options,
There is only one correct answer to each
question. Choose the MOST APPROPRIATE
option and darken/blacken the corresponding
circle on the OMR Answer Sheet.

SECTION — *A': LANGUAGE

001 Choose the correct spelling-

(1) Recaive

(2) Recieve
(3) Receeve

(4) Receeive

002 Choose the correct option to improve the
sentence and replace it with underlined
word -

*Did there bus come on time?’
(1) their

(2) theirs

(3) their’s

(4) No improvement

003 Choose the correct option \o izarrave the
sentence.

‘Ram left the house bofore Shyam got
there’.

(1) will leave
(2) leaves
(3) had left |
@ bich
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004

Fill in the blank with suitable question tag-

‘1 needn’t ask him, i
(1) canl
(2) aml

(3) aren‘tl

(4) needl

005

06

007

" ot
Complete the seatsace with the corree

form of verb -

The train _ Avddenly.

(1) is ey

(2) stopned

(3) wus sopping
(4) has stop

< hoose the sentence having intransitive
verb.

(1) Boys fly kites

(2) Birds fly

(3) Karim ran a race

(4) He burnt his diary

Fill in the blank with suitable conjunction.

[ do not know he has gone or not.

(1) whether

2) it
(3) through
(4) yet
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008 Complete the sentence with sultable

article -

Ram 1s student whom we all
eXpect o get less than 35% marks,

(1) a

2)

the

010

011

(3) that

(4) an

Fill in the blank with correct preposition-
The speaker is'going
(1) from

the subject.

(2) off

(3)

within

Fill in the blank with correct word.

“Akbar’s army the castle of

(1)
(2)

Cease

Seize

(3) Seized |

(4) Sees

Choose the correct m=anwg of “Beat the

-y

To make useless efforts

(1)

(2) To be vietor ous
(3) 7o be d=1eated
(4) 19 afy '
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012 Choose the word opposite in meaning

[rom the given option:

THREAT
(1) MENACE
(2) THOUGHTFUL
(3) SAFETY '
(4) PROSPER
013 Choose the correct spe)ing from the given
options :
(1) San:;iun-l
(2) Satcian
(3) Sancison
(4) Sarccion
414 ('ioose the word opposite in meaning to
I e given word.
i Forgiveness
l (1) Restore
| (2) Decline
(3) Withdraw
(4) Revenge
B
015 Choose the correct alj;llicle from the given
option. T
He is honest officer.
(1) a
(2) an .
(3) the
(4) Ne error |
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016 Identity the tense ol the following
sentence:

Ihe Sun sets in the West,

(1) Present Indefinite
(2)  Past Indefinite
(3)  Future Indefinite
(4)  Present Pertect Tense
017 Fill in the blank :
The of these products
good.
(1) quality, is

(2) quality, are
(3)

quality, were

(4) qualities, is

Read the following passage carefully ar

answer the questions given below : Q. 015-022

It is belieyr.a that a pashmina shawl is as
warm as six sweaters! It is very thin yet very
warm. The goats, .om which the soft pashmina
wool is ~citecied, are found on very high
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altitndes of 5000 metres. In winter, the
temperature here drops below 0°C (~40°C). A
cont of warm hair grows on the goat’s body
which protects it from extreme cold. The guafs
shed some of their hair (fur) in summsr. TT““
hair is 50 fine that six of these y/ould be as thick
us one hair of yours!

The fine hair epoa>t hv, woven on
muachines and so weayers of Kashmir make
these shawls by hane.. s 's u long and di fficult
process. After almos 25v Fours of weaving, one
plain pashnmina shaw) is made. Imagine how
long it wouis take to make a shawl with

embroider .

018 Choose the correct option to fill in the

blank:

' is believed that a pashmina shawl is as

warm as

(1) three sweaters!

(2) six sweaters!

(3) nine sweaters!

(4) ecleven sweaters!

019 Choose the correct statement;

(1) The goats shed some of their hair
(fur) in summer,

(2) The goats shed some of their hair
(fur) in winter,

(3) The goats shed some of their hair
(fur) in rainy season.

(4) The goats shed some of their hair
(fur) in spring,
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020 Choose the correct option: 023 Identify the adjective from the given

options «
After almost of weaving, one

plain pashmina shawl! is made, (1) IHigh

(1) 100 hours (2) Found

150 hour
@ s (3) Birds

(3) 200 hours

(4) Remains
(4) 250 hours

024 Fill in the blank with correct degree of

021 A coat of warm hair grows on the goat’s comprsicon,

body which protects it from extreme

cold.™ [ have money in my pocket.
Identify the part of speech for *hair’ from (1, Mot so more
the given sentence. | {(— ;F
(1) Verb !

| (3) Most
(2) Noun |

(4) Many

(3) Pronoun
(4) Adjective

025 Choose the word that is opposite of real

022 Choose the opposite of 5ick’,

(1) Reward
(1) wam -
(2) Imaginary
(2) soft
m (3) Wise
(3) thn
© m? (4) Modern

EN/HOLABE, 24 C) 5 o = - [ Contd...






032

Which of the tollowing is the correct
representation, using Roman Numerals of
the number 1997

(1 16C (2) CLXXXXIX
3) COXCIX 4 1CCCD

033 A number written using Roman Numerals
(XXI = XV) = VI + MCLXXIII
is equal to
(1) MCLXXI (2) MCLXVII
(3) MCL (4) MCXLIII

034

Harish drives his car at a speed of
45 kmhour. How much time (in minutes)
will he take to drive 12 km?

(1) 9 (2) 12

(3) 16 4) 20

Raman covers a distance of 24 km in |

40 minutes. If he increases his sperd
by 4 km/hour, then how much time
(in minutes) will he take to covir uhe
same distance?

(1) 28 (2) 32

(3) 36 (4) 38

036

(1) T 13225

Amrita went to a mar':at fvc parchasing
stationery items for her “on. She carried
Z 500 with her. She paid ? 135.50 for the
notebooks, T 37.50 for pens, T 3.75 for
erasers. < 48 ‘or a box of colours and
Z 142 for 7 Gemnetry box. How much
money is leit with her?

(2) Y142

(4) T 145.75

(3) ® !4{:.?.:;]
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IRE

034

P35

036

Py & 4, ettgn 199 w1 T8 aty o i Frea
war h?

(1) 1€C
(3) CXCIX

CLAXXIX
y.oCD

(2)
(4)

s st & wdin § & go

(XXI - XV) - VI +MIUXKII
fopers momT B 7

(1) MCLXXIn (2) MCLXVII
(3) MCL (4) MCXLIII

w0y o it 45 fRei/EeT 1 Tid |/ e
2| 12770 To ® 9% fea gug (e =)
o 7
10

)

9
16

Q) mi2
4) 20

o 40 ez & 24 ferd & g0 aa &tan & | 3
% St T 4 fedieer @er 2 & 5 g0 @
99 & § a8 a1 g99 (=21 &) @ ¢

(1) 28 (2) 32
(3) 36 (4) 38

AT HIA G & for wE | @dE A
2 178 T 500 F&T gen 1384 T 135,50 wiudl
% fora, T 30.50 Herwi & g, T3.75 T H
fau, T 48 T & feeat & faw qan
T 142 waniyd a1 & fou g | SEE 9T
e Uiy S ad & 7

(1) < 132.25 (2) T 142
(3) T 140.25 (4) T 145.75
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039

at the third place from the lefl, when these
fractions are arranged in ascending order?

25 1 9
3'6'8°14
2 5
_— p) a
{” 3 (2) .
1 9
3 {‘ 14
A ¢ the fracti 22 2 2
Arran actions —, = = = |
040 Arrang T in
descending order :
2 2 22 2 2 2 2
e VLY & 2 — i — —
(1) 1795 (2) 5 779 T}
2222 )
3 _!-‘_1_,_ 4] g e
®) 9 5 117 { ) I R o g
3 ; sS4 7
041 The largest among the fractions e
mdi,is
13
5 4
1) = oY Pt
(1) 9 . (2) 1
7 3 f
3) — AW L= =
(3) 2 (4) =

042

What should be added to I% to get 13 ?

5
(1) = A 2) 3%
—'l ‘ol |
TS o
3 oS A (4) 17

~— r
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e =il 2 ameréy 9 & e 9T 4T
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4309
3'6°8" 14

2 <
(1) 3 (2) >

7 : o

e q -
(3) 8 ) 2
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2 12 S 13
13 5
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1 &5, L
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3) 65 .'(:4) 17
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